
U3(8) (mod 7)

blocks defect matrix

G : 1 1 5× 2
2 0 561 = χ2, ϕ2

3 1 5× 2
4 = 3 1 5× 2
5 0 1331 = χ5, ϕ5

6 0 1332 = χ6, ϕ6

7 0 1333 = χ7, ϕ7

8 0 3991 = χ8, ϕ8

9 0 3992 = χ9, ϕ9

10 0 3993 = χ10, ϕ10

11 0 5671 = χ23, ϕ14

12 = 11 0 5672 = χ24, ϕ15

13 0 5673 = χ25, ϕ16

14 = 13 0 5674 = χ26, ϕ17

15 0 5675 = χ27, ϕ18

16 = 15 0 5676 = χ28, ϕ19

3.G : 17 1 5× 2
18 = 17∗

19 1 5× 2
20 = 19∗

21 1 5× 2
22 = 21∗

23 0 1891 = χ32, ϕ23

blocks defect matrix

24 = 23∗
25 0 1893 = χ33, ϕ24

26 = 25∗
27 0 1895 = χ34, ϕ25

28 = 27∗
29 0 3994 = χ35, ϕ26

30 = 29∗
31 0 3996 = χ36, ϕ27

32 = 31∗
33 0 3998 = χ37, ϕ28

34 = 33∗
35 0 5677 = χ50, ϕ32

36 = 35∗
37 = 36 0 5679 = χ51, ϕ33

38 = 37∗
39 0 56711 = χ52, ϕ34

40 = 39∗
41 = 40 0 56713 = χ53, ϕ35

42 = 41∗
43 0 56715 = χ54, ϕ36

44 = 43∗
45 = 44 0 56717 = χ55, ϕ37

46 = 45∗

Block 1: ϕ1 ϕ13

11 = χ1 1 .
5121 = χ13 . 1
5131 = χ14 1 1
5132 = χ15 1 1
5133 = χ16 1 1

ϕ1 = 11
ϕ13 = 5121

Block 3: ϕ3 ϕ11

571 = χ3 1 .
4561 = χ11 . 1
5134 = χ17 1 1
5136 = χ19 1 1
5138 = χ21 1 1

ϕ3 = 571
ϕ11 = 4561



Block 4: ϕ4 ϕ12

572 = χ4 1 .
4562 = χ12 . 1
5135 = χ18 1 1
5137 = χ20 1 1
5139 = χ22 1 1

ϕ4 = 572
ϕ12 = 4562

Blocks 17, 18: ϕ20 ϕ29

573 = χ29 1 .
4563 = χ38 . 1
51310 = χ41 1 1
51316 = χ44 1 1
51322 = χ47 1 1

ϕ20 = 573
ϕ29 = 4563

Blocks 19, 20: ϕ21 ϕ30

575 = χ30 1 .
4565 = χ39 . 1
51312 = χ42 1 1
51318 = χ45 1 1
51324 = χ48 1 1

ϕ21 = 575
ϕ30 = 4565

Blocks 21, 22: ϕ22 ϕ31

577 = χ31 1 .
4567 = χ40 . 1
51314 = χ43 1 1
51320 = χ46 1 1
51326 = χ49 1 1

ϕ22 = 577
ϕ31 = 4567


